
Exercises for ECE 641: Advanced Topics in Supervisory Control Spring 2013

Exercise Sheet 8: Decentralized Control

Problem 20:

Consider the system G and specification automaton C depicted in the following figure.
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The conjunctive decentralized control architecture with two supervisors, S1 and S2, is to be used to
control G. The specification language is K = L(C). The local sets of observable and controllable events
are: Σo,1 = {a, b, c}, Σo,2 = {b, c, d}, Σc,1 = {a, c} and Σc,2 = {b, d}.

a. Verify that K is co-observable with respect to the above information.

b. Modify one or more of the four sets Σo,1, Σo,2, Σc,1 or Σc,2 until K is no longer co-observable.


